Inter District Private School Services Agreement | 2023-2024

COLUMBIA COUNTY SCHOOL DISTRICT

Agreement for School Year 2023 - 2024 and terminating by mutual agreement

The Federal Elementary and Secondary Education Act (ESEA) as amended by Every Student Succeeds Act (ESSA) in Title I Section 1117, Section 200.62 (b)(1)(i) defines...

Participation of Eligible Children in Private Schools

§200.62 Responsibilities for providing services to private school children.

- (a) After timely and meaningful consultation with appropriate officials of private schools, an LEA must—
- (1) In accordance with §§200.62 through 200.67 and section 1120 of the ESEA, provide special educational services or other benefits under subpart A of this part, on an equitable basis and in a timely manner, to eligible children who are enrolled in private elementary and secondary schools; and
- (2) Ensure that teachers and families of participating private school children participate on a basis equitable to the participation of teachers and families of public school children receiving these services in accordance with §200.65.
- (b)(1) Eligible private school children are children who—
- (i) Reside in participating public school attendance areas of the LEA, regardless of whether the private school they attend is located in the LEA; and
- (ii) Meet the criteria in section 1115(b) of the ESEA.
- (2) Among the eligible private school children, the LEA must select children to participate, consistent with §200.64.
- (c) The services and other benefits an LEA provides under this section must be secular, neutral and non-ideological.

(82 FR 31709, July 7, 2017)

The school district in which the child resides is responsible for providing services to the child, but it may arrange to have services provided by another school district. For purposes of this agreement, the district in which the student resides will be called the Resident District. The district in which the student attends will be called the Receiving District.

The purpose of this agreement is to provide for services to private school students who reside in Hamilton County School District but attend school in Columbia County School District.

Responsibilities of the Receiving District:

- 1. Conduct all consultation requirements under S.200.63 for all private schools within the boundaries of its district.
- 2. Upon identifying a student attending an eligible private school in the Receiving District, inform the Resident District using Appendix B or another method that provides comparable information.

- 3. Upon confirmation that the student is address-eligible, provide services to the identified students according to the plan developed in consultation with the private school.
- 4. Provide equitable services to the parents of identified students.
- 5. Provide equitable professional development to the regular teachers of identified students.
- 6. Provide all necessary administrative services to carry out the items above.
- 7. Invoice the Resident District for services provided (exclusive of administrative costs); OR arrange for reciprocal services in an equal monetary amount to private school students for whom the roles of Receiving and Resident District are reversed.

Responsibilities of Resident District

- 1. Upon notification of a student by the Receiving District, verify in writing (e-mail is acceptable) whether or not the student is address-eligible for Title I services.
- 2. Annually reserve equitable funds for any verified eligible private school students identified by a Receiving District.
- 3. Annually reserve equitable funds for the parents of identified private school students.
- 4. Annually reserve equitable funds for the regular teachers of identified private school students.
- 5. Notify the Receiving District regarding the amount of funds reserved using Appendix A or another method that provides comparable information.
- 6. Upon invoice from the Receiving District, pay the amount due for services rendered to eligible private school students, parents, and teachers: OR
- 7. Provide reciprocal services in an equal amount to private school students for whom the roles of Receiving and Resident District are reserved.

(REMAINDER OF PAGE INTENTIONALLY LEFT BLANK)

LEA Name: I	Hamilton	RIE SE SE	X-Land St.							
Date Certain:	April 26, 2023									
Method for d	etermining eligible private school student	ts: Form B								
Pooling or No	t Pooling: Pooling				عيدة بهايكويا أألأوا					
If pooling is o	nly occuring with specific schools, please s	pecify those scho	ols that are	pooling fun	ds: All schools are poolin	g.				
Total Private	School Allocation:	\$43,5	75.00							
Private School Administrative Cost Reservation:		\$2,178.75		5% Administrative Costs						
Private School Family Engagment Reservation		\$435.75		1% PFE						
Total Remaining Allocation (auto-calc):		\$40,960.50		Amount to be distributed to private schools						
No.	Nonpublic School Name	Nonpublic School	Grade Span	Number of Private	School Number for PSAA in which Private School	Public School	Number of Children	PPA Private School Service		

Calculation for the Pri	ivate School PPA (Column I)
Remaining Allocation	\$40,960.50

Private School CLIF 59
PPA (Allocation/CLIF) \$694.246

Total Remaining Allocation (auto-calc):		\$40,960.50			Amount to be distribu						
No.	Nonpublic School Name	Nonpublic School Number (4 digit)	Grade Span	Number of Private School Students Residing In PSAA	School Number for PSAA in which Private School Students Reside	Public School Attendance Area FRPL% and CEP%	Number of Children from Low Income Families	PPA Private School Service	Nonpublic School Equitable Allocation	PFE Allocation	Dollars Allocated (Pooling)*
2	Corey Murice Jackson Academy, Inc.	5781	K-12	31	0032;0041	100%	31	\$694.25	\$ 21,521.62	\$228.95	Х
3	Achiever`s Christian Academy, Inc.	5430	K-12	8	0032;0041	100%	8	\$694.25	\$ 5,553.97	\$59.08	x
4	New Generation Christian Ministries	4398	K-12	8	0032;0041	100%	8	\$694.25	\$ 5,553.97	\$59.08	Х
5	Cambridge Prep Academy	6289	K-12	5	0032;0041	100%	5	\$694.25	\$ 3,471.23	\$36.93	X
6	Hart 2 Hart Academy	7739	K-12	2	0032;0041	100%	2	\$694.25	\$ 1,388.49	\$14.77	Х
7	North Florida Arts & Science Academy	7684	K-12	2	0032;0041	100%	2	\$694.25	\$ 1,388.49	\$14.77	Х
8	Lake City Christian Academy	773	PK-12	2	0032;0041	100%	2	\$694.25	\$ 1,388.49	\$14.77	х
9	Epiphany Catholic School	425	K-8	1	0032;0041	100%	1	\$694.25	\$ 694.25	\$7.39	x

District Totals 59 \$ 40,960.50 \$435.75

Inter District Private School Services Agreement | 2023-2024

By our signatures on this document, the below signed agree that private school students, parents, and teachers will be provided equitable services and that all requirements of ESEA and related regulations and guidance will be met by the Receiving District on behalf of the Resident District, in return for compensation from the Resident District.

Resident District: Hamilton County Receiving District: Columbia County Peggy Hasty, Coordinator of Federa Programs Joseph N. Adkins, Director of Federal Projects Hamilton County School District Columbia County School District 10-10-23 Dorothy Lee Wetherington-Zamorg. Superintendent Columbia County School District Hamilton County School District Johnny Bullard, Chairman Dana Brady-Giddens, Chairperson Hamilton County School District Columbia County School District 10-10-23

Date

APPROVED BY HAMILTON SCHOOL BOARD

APPROVED BY HAMILTON SCHOOL BOARD